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CHEMISTRY MID-TERM EXAM RFVIEW

1. What is mass?

[A] the amount of matter in an object

[B] the amount of Earth's gravitational pull on an object

[C] the amount of space an object takes up 

[D] the amount an object weighs

2.  Anything that takes up space and has mass

[A] model 
[B] matter 
[C] chemistry 
[D] technology

3. A chemical that protects organisms from UV radiation

[A] technology
 [B] scientific method
 [C] ozone
[D] chlorofluorocarbon

4. The study of matter and the changes it undergoes

[A] technology 
[B] model
 [C] chemistry

 [D] scientific method

5.  Which of the following is NOT matter?

[A] atoms 
[B] ultraviolet radiation 
[C] air 

[D] the Sun

6. Which of the following is an example of quantitative data?

[A] melts at -55°C 
[B]red 

[C] spherical 

[D] foul smelling

7. A biologist is studying how earthworms behave in response to moisture. Which of the following is the dependent variable in this experiment?

[A] the amount of moisture 
[B] the temperature of the room

[C] the earthworm 

[D] the earthworm's behavior

8. A researcher gives 20 mice vitamin C every day for one month and a sugar pill to another 20 mice every day for one month. All the mice are fed once a day. What is NOT a constant in this experiment?

[A] the vitamin C 

[B] the number of days the mice receive the vitamin C

[C] the frequency feeding 
[D] the number of mice
9. Which of the following is NOT a standard step in the scientific method?

[A] simplifying the hypothesis 
[B] forming a hypothesis
[C] testing a hypothesis 
[D] making observations
10. What is a scientific theory?

[A] a mathematical model
 [B] an explanation for data gathered in an experiment

[C] an explanation supported by many experiments 
[D] a hypothesis
11. The act of gathering information

[A] conclusion

 [B] observation 
[C] chemistry

 [D] model
12. A systematic approach used in all scientific study

[A] chemistry
 [B] model 
[C] technology 

[D] scientific method

13. A judgment based on the information obtained during an experiment

[A] conclusion 

[B] observation 

[C] technology 

[D] model
14. Why should chemicals be removed from stock containers in small amounts?

[A] Carrying large amounts of chemicals in test tubes is difficult.
[B] It helps to avoid removing more of a chemical than is needed.

[C] Returning large amounts of chemicals to their stock containers can result in spills.

[D] It is easier to measure small amounts of chemicals.
15. How should you prepare an acid solution?

[A] Add the water to the acid all at once.
[B] Add the acid to the water very slowly.
[C] Add the water to the acid very slowly.

[D] Add the acid to the water all at once.
16. The practical use of scientific research

[A] model 
[B] scientific method
[C] chemistry

[D] technology

17.  Which is an example of qualitative data?


[A] temperature

[B] pressure
     [C] volume
         [D] rigid

18. Which of the following is an example of pure research?


[A] creating synthetic elements to study their properties


[B] producing heat-resistant plastics for use in household ovens


[C] finding ways to slow down the rusting of iron ships


[D] searching for fuels other than gasoline to power cars

19. When working with chemicals to study their properties, which of the following is something you should NOT do?

[A] Read the label of chemical bottles before using their contents


[B] Pour any unused chemicals back into their original bottles.

[C] Use lots of water to wash skin that has been splashed with chemicals.


[D] Take only as much as you need of shared chemicals.

20. Density is often written in which units?

[A] g/cm3
 [B] g

[C] g/m

[D] cm3/g

21. Which prefix is equivalent to l000?

[A] deci- 
[B] kilo-
[C] giga-
[D] milli-
[E] centi-

22. Which prefix is equivalent to
[image: image48.emf] ?
[A] centi- 
[B] deci-
[C] giga-
[D] milli-
[E] kilo-
23. Which prefix is equivalent to 109?

[A] milli- 
[B] kilo-
[C] centi-
[D] giga-
[E] deci-
24. Which prefix is equivalent to 
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[A] centi-
 [B] deci-
[C] kilo-
[D] giga-
[E] milli-
25. Refers to how close a series of measurements are to one another

[A] percent error
 [B] precision

 [C] accuracy

[D] derived unit
26. A ratio of equivalent values used to express the same quantity in different units

[A] dimensional analysis
 [B] conversion factor 
[C] base unit 
[D] derived unit
27. A means of expressing numbers as a multiple of two factors: a number between 1 and 10 and ten raised to a power, or exponent

[A] derived unit       [B] base unit       [C]dimensional analysis
   [D] scientific notation
28. You calculate that 215 000 g is the answer to a problem. You are asked to write your answer in scientific notation. What can you conclude about your answer?

[A] You should round the 1 up to 2 because it is followed by a 5.

[B] The answer is too small to be written in scientific notation.

[C] It has three significant figures. 
[D] It has six significant figures.

29. You calculate that 569 000 000 m is the answer to a problem. You are asked to write your answer in scientific notation. Which answer is correct?

[A] 5.69 x 108 

[B] 56.9 x 1010
      [C] 57 x 1010
 [D] both Band C
30. A defined unit in a system of measurement that is based on an object or event in the physical world

[A] base unit 

[B] derived unit         [C]conversion factor         [D] percent error
31. A unit in a system of measurement that is defined by combining base units

[A] conversion factor 
[B] scientific notation
 [C] derived unit 
[D] Kelvin
[image: image3.emf]
32. Look at the figure above. What aspect of measurement evaluation does it represent?

[A] precision only 


[B] accuracy only

[C] both accuracy and precision

[D] neither accuracy nor precision
33. Look at the figure above. To represent accuracy, the arrows should be ______ _

[A] one in each ring
 

[B] all near the center

[C] within the ring marked 60
 
[D] where they are
34. Use the following figure to answer the questions.
[image: image4.emf]
What can you conclude about the figure?

[A] The arrows have been thrown accurately toward the bulls-eye
[B] The arrow locations represent neither accuracy nor precision.

[C] The arrow locations represent precision.

[D] The arrow locations represent both high accuracy and good precision.
35.  To evaluate the accuracy of experimental data, you can calculate the difference between

[A] an experimental value and a precise value.

[B] an experimental value and an accepted value.

[C] an accurate value and an accepted value.

[D] an accurate value and a precise value.
36. You calculate that 966 000 m/s is the answer to a problem. What can you conclude about your answer?

[A] It has three significant figures. 

[B] It has six significant figures.

[C] It is not possible to know how many significant figures are in an answer without

                    knowing its accepted value.

[D] It is not possible to know how many significant figures are in an answer without

                    knowing its percent error.
37. You calculate the following answer to a problem: 81.655 cm. You are asked to round your

answer to four significant figures. Which answer is correct?

[A] 81.65 cm 
[B] 81.66 cm 
[C] 81.70 cm 
  [D]81.60 cm
38. A method of problem-solving that focuses on the units used to describe matter, often using conversion factors

[A] derived units       [B] dimensional analysis      [C] base units      [D] conversion factor

39. Find the answer to the following problem and express the answer in scientific notation.  
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40. Find the answer to the following problem and express the answer in scientific notation.
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41. Use conversion factors to convert 5.70 g to milligrams. Answers should be rounded to correct significant figures (1000 mg = 1 g)


[A] 0.0057 mg
     [B] 
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      [C] 5700 mg
[D] 
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42. Round 431 801 kg to four significant figures. 


[A] 4318 kg
     [B] 431 800 kg
      [C] 431 700 kg
    [D] 432 000 kg
43. Based on the graph below, what can you conclude?
[image: image17.emf]
                                                   Year
         [A] Professors at private universities make more money than those at public universities.

         [B] Professors at public universities make more money than those at private universities.

         [C] The salaries of both private and public un.ivet3ity professors have increased since 1980.

         [D] Both a and c
44. The ratio of an error to an accepted value

[A] percent error          [B] dimensional analysis         [C] accuracy 
[D] precision
45. Which of the following is a physical property of copper?

[A] reacts with ammonia to form a deep blue solution

[B] reacts with moist air to form copper carbonate

[C] conducts electricity 
[D] forms new substances when combined with nitric acid
Select the answer that best describes the property.

46.  color- 

[A] chemical 
     [B] physical, extensive
     [C] physical,  intensive
47. tendency to rust-
[A] chemical 
[B] physical, extensive 
      [C] physical. Intensive
48. A form of matter with a constant volume that takes the shape of its container

[A] solid 
[B] crystallization 
[C] liquid 
[D] solution
49. A form of matter with a definite shape and volume

[A] solution 
[B] crystallization 
[C] solid 
[D] liquid
50. Which is an example of a gas?

[A] gold 
[B] methane 
   [C] sterling silver (silver and copper)      [D] steam

51. Which of the following represents a physical change?

[A] burning potatoes 

[B] baking potatoes

[C] frying potatoes 

[D] cutting potatoes up
52. Which of the following is NOT an indication of a chemical change?

[A] melting

[C] change in color

[B] change in temperature

[D] formation of a gas
53. States that mass is neither created nor destroyed in any process

[A] law of conservation of mass 

[B] law of definite proportions
[C] law of multiple proportions 


[D] states of matter
Identify each change as either physical or chemical.
54. breaking a pencil in half: 

[A] physical 

[B] chemical
55. wood burning:


 [A] physical 

[B] chemical
56. Which of the following is NOT a way to separate the components of a mixture?

[A] pouring coffee through a coffee filter 
[B] cutting the mixture into small pieces

[C] using a magnet to separate magnetic materials from non-magnetic materials

[D] evaporating water from salt water
57. Which of the following is a heterogeneous mixture?

[A] air 
        [B] water vapor 
    [C] sand and water 

[D] hot tea
58. A homogeneous mixture

[A] solution
 [B] crystallization 
[C] liquid 
[D] solid
59. A separation technique that results in the formation of pure solid particles from a solution

[A] solution 
[B] chromatography 
[C] crystallization
 [D] percent by mass
60. A technique that separates the components of a mixture

[A] chromatography


[B] percent by mass
[C] crystallization


[D] law of multiple proportions
61. Which item is an example of a homogeneous mixture?

[A] silicon 
[B] air 

[C] nickel

62. Identify the technique you would use to separate each mixture of two substances with different boiling points

[A] distillation

 [B] filtration


63. Which of me following is a compound?

[A] sodium
 [B] nitrogen 
   [C] calcium
     [D] calcium carbonate
64. Which item is an example of a compound?  [A] salt 
               [B] nickel 
      [C] air
65. Which item is an example of an element?    [A] aluminum        [B] salt                  [C] brass
66. States that regardless of the amount a compound is always composed of the same elements

in the same proportion by mass

[A] states of matter

[C] law of definite proportions
[B] law of multiple proportions

[D] law of conservation of mass
67. States that different masses of one element combine with the same relative mass of another

element to form different compounds

[A] law of multiple proportions 

[B] states of matter
[C] law of conservation of mass 

[D] law of definite proportions
68. The ratio of the mass of each element to the total mass of the compound

[A] law of definite proportions 

[B] law of multiple proportions

[C] law of conservation of mass 

[D] percent by mass
69. Which is an example of an alloy?

[A] sterling silver (silver and copper) 
[B] methane
    [C] steam
 [D] gold
70. Na, K, Li, and Cs all share very similar chemical properties.  In the periodic table of elements, they most likely belong to the same


[A] row.
[B] group
   [C] period
        [D] element

71. What is the percent by mass of sulfur in sulfuric acid H2SO4?


[A] 32.69%
    [B] 16.31%
        [C] 64.13%
       [D] 48.57%

72. The smallest panicle of an element that retains the properties of that element

[A] nucleus
 [B] atomic mass           [C] atomic mass unit         [D] isotope    [E] atom
73. States that all matter is composed of atoms

[A] isotope 


[B] Dalton's atomic theory

[C] radioactivity 

[D] atomic mass 

[E] atomic mass unit
74. Which subatomic particle has a negative charge?

[A] proton 
[B] atom 
[C] neutron 
[D] electron
75. Which subatomic particles are found in an atom's nucleus?

[A] neutrons and electrons 

[B] protons and electrons

[C] protons only 


[D] protons and neutrons
76. The center-most part of an atom where the protons and neutrons are contained

[A] nucleus 


[B] atomic mass 

[C] isotope

[D] atomic mass unit 

[E] gamma ray
[image: image18.emf]
77. What is the name of the particle labeled A in the figure?

[A] an alpha particle


[B] a proton

[C] a neutron 



[D] it could be either a proton or a neutron

78. What is the model shown in the figure called?

[A] Bohr model


[B] Planck’s model
[C] plum pudding model

[C] nuclear model

79. Which statement about the figure is true?

[A] particle C has a greater mass than A and B combined

[B]particle C has a much smaller mass than particle A

[C] particle C has a greater mass than particle B

[D] particles A, B, and C have the same mass

80. Atoms with the same number of protons but different numbers of neutrons

[A] radioactivity 

[B] Dalton's atomic theory

[C] atomic mass unit 

[D] isotopes 


[E] atomic mass

81. The weighted average mass of an element's isotopes

[A] atom

[B]  atomic mass unit

[C] Dalton’s atomic theory
[D] nucleus

[E] atomic mass

82. Equal to 
[image: image19.wmf]1
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 the mass of a carbon-12 atom

[A] atomic mass unit 
[B] atom         [C] atomic mass      [D] isotope
      [E] nucleus
[image: image20.emf]
83.  Which element has 83 electrons? Use the periodic table provided.

[A] Iridium 
[B] Radon 
[C] Gold 
[D] Bismuth 
[E] Indium

84. Which element has 21 protons?

[A] sodium,
[B] Carbon
[C] scandium
[D] manganese
    [E] silver

85. Which element has an atomic number of 65?


[A] zirconium
     [B] tungsten
         [C] osmium
[D] Terbium       [E] plutonium

86.  An atom has no net electrical charge because

[A] its subatomic particles carry no electrical chares.


[B] the positively charged protons cancel out the negatively charged neutrons.


[C] the positively charged neutrons cancel out the negatively charged electrons.


[D] the positively charged protons cancel out the negatively charged electrons.

87. 
[image: image21.wmf]52
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 has


[A] 126 neutrons, 52 protons, and 52 electrons


[B] 74 neutrons, 52 protons, and 52 electrons


[C] 52 neutrons, 74 protons, and 74 electrons


[D] 52 neutrons, 126 protons, and 126 electrons

Use the table below to answer questions 88-89.

	Characteristics of Naturally Occurring Neon Isotopes

	Isotope
	Atomic Number
	Mass (amu)
	Percent Abundance
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Ne


	10
	19.992
	90.48
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	10
	20.994
	0.27
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Ne


	10
	21.991
	9.25


88. Based on the table, what is the mass of an atom of neon found in nature?

[A] 19.992 amu


[B] 20.179 amu


[C] 20.994 amu


[D] 21.991 amu

89. In which of the neon isotopes is the number of neutrons the same as the number of protons?


[A] 
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[B] 
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[C] 
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[D] none of these

90. The volume of an atom is made up mostly of 

[A] protons

[B] neutrons
    [C] electrons

[D] empty space

91. Which of the following travel at the speed of light?

[A] X rays 
[B] radio waves 
[C] microwaves

[D] all of them
92. The set of frequencies of the electromagnetic waves emitted by the atoms of an element

[A] principle quantum number

[B] electromagnetic radiation

[C] atomic emission spectrum 

[D] wavelength
93. A form of energy that exhibits wavelike behavior as it travels through space

[A] electromagnetic radiation 

[B] atomic orbital

[C] photon 



[D] photoelectric effect
94. A particle of electromagnetic radiation with no mass that carries a quantum of energy

[A] wavelength 

[B] photon 
[C] photoelectric effect 
         [D] atomic orbital
95. The emission of electrons from a metal's surface 'when light of a certain frequency shines 

on it
[A] principle quantum number

[B] photoelectric effect

[C] wavelength 


[D] atomic emission spectrum'

[image: image28.emf]
96. Look at the figure above. According to Bohr's atomic model, which letter or letters represent a place where an electron can be?

[A] A only 
[B] C only  
[C] A and C 

[D] A, B, and D

97. According to the quantum mechanical model of the atom, what does point A in the figure represent?
[A] n=5



[B] two quanta. 


[C] a position where an electron is likely to be found


[D] a point beyond which no electron can go
[image: image29.emf]
98. Which letter in the figure above represents n = 1?

[A] A 

[B] B 

[C] C 

[D] D
99. What is the lowest allowable energy state of an atom called?

[A] quantum state 

[B] ground state 


[C] elemental level
 
[D] excited state

100. Which of the following is the de Broglie equation?
[A] 
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101. What does de Broglie's equation predict?
[A] All electrons are neutral



[B] All waves are electrons.

[C] All moving particles have wave characteristics.
[D] all of the above.
[image: image34.emf]
102. According to Bohr's atomic model above, which letter(s) in the figure above represents a

place where an electron cannot be?

[A] A 

[B] D 

[c] A and D 

[D] B, C. and E
103. According to the quantum mechanical model of the atom above, point E in the figure
represents a _______.
[A] position where an electron must be
[B] point where an electron cannot be
[C] point beyond which no electron can go
[D] position where an electron probably is
104. Which of the following best describes the Heisenberg uncertainty principle?

[A] It is impossible to know both the velocity and the position of a 
particle at the same time.

[B] You cannot measure an object without disturbing it.

[C] The shorter the wavelength, the higher the frequency.

[D] Light behaves like a particle and like a wave.

105. The minimum amount of energy that can be lost or gained by an atom

[A] photon
 [B] ground state
 [C] wavelength

 [D] quantum

106. The lowest allowable energy state of an atom

[A] ground state


 
[B] quantum

[C] atomic orbital 



[D] principle quantum number

107. A figure indicating the relative sizes and energies of atomic orbitals
[A] atomic emission spectrum


[B] principal quantum number

[C] wavelength




[D] ground state

108. Energy relationship developed by Planck

[A] 
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109. How many valence electrons does the group lA element sodium have? The atomic number

of sodium is 11.
[A] 1 

[B] 2

[C] 3

 [D] 4

110. Which of the following is the correct electron-dot structure for sodium?

[image: image1.wmf]1
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[A] 
[B] 
[C] 
[D] 

111What can you conclude from the figure below?

[image: image39.emf]
 
A] Ths is a valid orbital diagram.

[B] The Pauli exclusion principle has been violated.

[C] The Aufbau principle has been violated. 

[D] Hund's rule has been violated.

112. What can you conclude from the figure below?

[image: image40.emf]
[A] The Pauli exclusion principle has been violated.

[B] This is a valid orbital diagram.

[C] Hund's rule has been violated.

[D] The Aufbau principle has been violated.

Use the periodic table and the chart below to answer questions #113-115.
	Electron Configurations for Selected

Transition Metals

	Element
	Symbol
	Atomic 

Number
	Electron 

Configuration

	Vanadium
	V
	23
	[Ar]4s23d3

	Yttrium
	Y
	39
	[Kr]5s24d1

	-----------
	------------
	--------------
	[Xe]6s24f145d6

	Scandium
	Sc
	21
	[Ar]4s23d1

	Cadmium
	Cd
	48
	--------------


113. Using noble-gas configuration, what is the ground-state electron configuration of Cd?


[A] [Kr]4d104f2



[B] [Ar]4s23d10

[C] [Kr]5s24d10



[D] [Xe]5s24d10

114. What is the element that has the ground-state electron configuration [Xe]6s24f145d6?


[A] La


[B] Ti

[C] W

[D] Os
115.  What is the complete electron configuration of scandium atom?
[A] 1s22s22p63s23p64s23d1

[B] 1s22s22p73s23p74s23d1
[C] 1s22s22p53s23p54s23d1

[D] 1s22s12p73s13p74s23d1
116.  Which of the following orbitals has the highest energy?


[A] 4f

[B] 5p

[C] 6s

[D] 3d

117. Use the periodic table in your textbook to answer the following questions. Most of the

elements in groups 6A -8A are classified as ______ _

[A] inner transition metals

[B] alkaline earth metals.

[C] alkali metals 


[D] nonmetals

118. Group A elements

[A] halogens 


[B] transition elements 


[C] noble gases


[D] representative elements 
[E] alkali metals

119. Group B elements

[A] transition elements 
[B] alkaline earth  metals
 [C] halogens

[D] alkali metals 

[E] representative elements
120. Group lA elements (except for hydrogen)

[A] alkali metals 

[B] halogens
 
[C] alkaline earth metals

[D] representative elements 
[E] transition elements

121. Group 2A elements

[A] alkaline earth metals  
[B] transition elements

[C] noble gases

[D] halogens


[E] alkali metals

122. A column in the periodic table

[A] transition elements 
        [B] period          [C] group        [D] periodic law 
[E] ion

123. A row in the periodic table

[A] group           [B] transition elements       [C] period         [D] octet rule            [E] ion

124. Group 7A elements

[A] noble gases

[B] transition elements

[C] halogens

[D] alkali metals
[E] alkaline earth metals
125. Group 8A dements

[A] alkali metals
[B] representative elements


[C] halogens

[D] noble gases


[E] alkaline earth metals
126. Which of the following pairs of e1ements have similar properties? You may use the

periodic table in your textbook.

[A] sodium and chlorine


[B] sodium and potassium

[C] lithium and helium 


[D] oxygen and fluorine

127. Which of the following electron configurations is that of a group 5A element?

[A] [He]2s1

[B] [Ne] 3s2sp3

[C] [Ne]3s22p5

[D] [Ar]3d34s2
Use the periodic table in your textbook to answer the following questions.

128. Elements in the same group have the same _______

[A] atomic radius 


[B] energy level of outer electrons

[C] number of valence electrons
 
[D] nuclear charge
Use the periodic table in your textbook to answer the following questions.
129. Identify the period and group of the element that has the electron configuration [Ne]3s2 3p3.

[A] period 3, group 5A


[B] period 3, group 1A
[C] period 3, group 3A


[D] period 2, group 2A
130. What is the electron configuration of the element in group 4A and period 4 of the periodic table?


[A] [Ne]3s22p4

[B] [Kr]5s24d2

[C] [Ar]4s23d104p2
[D] [Ar]4s2
131. An element has an electron configuration of [Ne] 3s23p1. The formation of which of the following ions of that element will have the greatest ionization energy?

[A] 1 + 


[B] 2+ 


[C] 3+ 


[D] 4+
132. The element with which of the following electron configurations has the smallest atomic

radius?

[A] [Ar]4s2
[B] [Ne]3s2
[C] [He]2s22p5

[D] [Ne]3s23p4
133. The element with which of the following electron configurations has the largest atomic

radius?

[A] [Ar]4s2
[B] [Ne]3s23p4

[C] [Ne]3s2
[D] [He]2s22p5
Use the periodic table in your textbook to answer the following questions.

134. Which energy level of the period 4 transition elements is being filled with electrons?

[A] third 
[B] fourth
 [C] fifth 
[D] sixth
Use the periodic table in your textbook to answer the following questions.
135. Which of the following classifications describes the element with the electron

configuration [Ar]4s2 3d10 4p5?

[A] stable nonmetal 


[B] unstable nonmetal 
     

[C] stable metal   


[D] unstable meta
l

136. What is the trend in atomic radii as you move from left-to-right across a period?

[A] generally decreases


[B] generally increases
[C] remains the same


[D] varies randomly
137. In which of the following pairs is the second particle listed larger than the first?

[A] Pb, C 
[B] Li, Li+ 
     [C] Br, Br- 
       [D] K, Ga
138. Which of the following electron configurations represents the most chemically stable

atom?

[A] [Ne]3s23p5
        [B] [He]2s22p3
    [C] [Ne]3s23p6
 [D] [Ne]3s23p64s23d5

139. Atom or bonded group of atoms that has a positive or negative charge

[A] period 
[B] electronegativity
   [C] group
 [D] ionization energy
 [E] ion
140. Energy required to remove an electron from a gaseous atom

[A] periodic law
 [B] ionization energy 
[C] group 
[D] ion 
     [E] octet rule
141. Statement that atoms tend to gain, lose, or share electrons to acquire a full set of eight

valence electrons

[A] group


[B] ionization energy

[C] periodic law
[D] octet rule


[E] electronegativity
142. Indication of an atom' s ability to attract electrons in a chemical bond

[A] ionization energy 

[B] electronegativity

 [C] period

[D] periodic law 

[E] group
143. What is a characteristic common to all alkali metals?

[A] They are found uncombined in nature.

[B] They lose two electrons to form ions with a 2 + charge.

[C] They readily react with water to form alkaline solutions.

[D] They are yellow in color.
144. Elements in the same group have similar chemical properties because ______
[A] they have the same number of valence electrons

[B] they have a similar atomic mass

[C] they have a diagonal relationship 
[D] their atoms are about the same size
145. Alkaline earth metals form ions with a _________
[A] -1 charge 
     [B] +1 charge 
[C] +2 charge  
     [D] +3 charge
146. Select the symbol of the more reactive element in each pair. 
[A] Na 

[B] Li

147. Which of the following p-block elements is found in all organic compounds?

[A] phosphorous 
[B] nitrogen 
[C] carbon 
[D] silicon
148. The most reactive of all the elements is the halogen _________
[A] chlorine 
[B] iodine 
[C] fluorine 
[D] bromine
Select the symbol of the more reactive element in each pair.

149. 
[A] F 


[B] Br

150. 
[A] CI 


[B] Ne

151. In general, the last electron of an inner transition metal enters ____________.

[A] a s sublevel 
[B] a d sublevel 

[C] a p sublevel 
[D] a f sublevel

152. Which of the following is a characteristic common to the transition metals?

[A] Most form only one common ion.

[B] Most are good conductors of electricity and heat.

[C] Many are soft and easily cut with a knife.

[D] Most react readily with the oxygen in air and must be stored under oil.

153. Elements with a higher atomic number than uranium are ______

[A] always found combined in compounds

[B] found both as uncombined elements and in compounds

[C] found as uncombined elements 

[D] not found in nature

154. What is the electron configuration for the noble gases other than helium?
[A] ns2np2
  [B] ns2np3
    [C] ns2
[D] ns2np6
155. Periodic law states that elements show a 


[A] repetition of their physical properties when arranged 

       by increasing atomic radius

[B] repetition of their chemical properties when arranged   

       by increasing atomic mass

[C] periodic repetition of their properties when arranged 

       by increasing atomic number

[D] periodic repetition of their properties when arranged 

       by increasing atomic mass

156. Which of the following are true EXCEPT


[A] atomic radius of Na < atomic radius of Mg


[B] electronegativity of C > electronegativity of B


[C] ionic radius of Br - > atomic radius of Br


[D] first ionization energy of K > first ionization energy of Rb

157. What is the group, period, and block of an atom with the electron configuration [Ar]4s23d104p4?


[A] group 4A, period 4, d-block


[B] group 6A, period 3, p-block


[C] group 4A, period 4, p-block


[D] group 6A, period 4, p-block

158. Moving down a group on the periodic table, which two atomic properties follow the same trend?


[A] atomic radius and ionization energy


[B] ionic radius and atomic radius


[C] ionization energy and ionic radius


[D] ionic radius and electronegativity

159. Niobium (Nb) is a(n)


[A] alkali earth metal


[B] alkali metal

[C] transition metal


[D] halogen

160. Barium (Ba) is a(n)


[A] alkali metal


[B] alkali earth metal


[C] halogen



[D] noble gas

161. Helium (He) is a(n)


[A] Alkali metal


[B] inner transition metal


[C] halogen



[D] noble gas

162. Iodine (I) is a(n)


[A] alkali earth metal


[B] inner transition metal


[C] halogen



[D] transition metal

163. The force that holds two atoms together

[A] lattice energy 
[B] chemical bond 
[C]ionic bond

[D] alloy 

[E] metallic bond
164. A positively charged ion

[A] oxyanion 

[B] cation 
[C] salt 

[D] anion 
[E] alloy
165. A negatively charged ion

[A] alloy 

[B] anion 
[C] salt 

[D] oxyanion 
[E] cation
166. The name for most ionic compounds other than oxides

[A] delocalized electrons

[B] salts

[C] electrolyte

[D] alloy



[E] interstitial alloy
167. The energy needed to separate the ions of an ionic compound

[A] formula unit 
[B] oxidation number 

[C] metallic bond

[D] chemical bond 
[E] lattice energy
168. The electrostatic force that holds oppositely charged particles together

[A] electrolyte

[B] chemical bond

[C] ionic bond
[D] metallic bond
[E] lattice energy
169. Match the following anion with its structure: ClO –
[image: image41.emf]
170. Match the following anion with its structure: ClO3 –
[image: image42.emf]
171. Match the following anion with its structure: Cl04 –
[image: image43.emf]
172. Match the following anion with its structure: Cl02 –

[image: image44.emf]
173. The anion that has the formula CIO- is called the _______
[A] perchlorate ion 

[B] chloride ion 


[C] hypochlorite ion    

[D] chlorate ion

] 74. What is the formula of calcium phosphate, which is made up of the ions Ca2+ and PO43-?

[A] Ca6PO4

[B] Ca2(PO4)3

[C] Ca3PO4

[D] Ca3(PO4)2
175. A charged particle containing more than one atom

[A] monatomic ion 

[B] oxyanion 

[C] polyatomic ion 
[D] cation 


[E] anion

176. A charged particle containing only one atom

[A] monatomic ion 
[B] alloy 
[C] polyatomic ion 


[D] salt 

[E] oxyanion

177. A polyatomic ion composed of an element bonded to at least one oxygen atom

[A] electrolyte 

[B] cation 
[C] oxyanion 
[D] monatomic ion 
[E] anion

178. Shows the simplest ratio of ions in an ionic compound

[A] oxidation number

[B] lattice energy
[C] delocalized electrons
[D] formula unit

[E] electron sea model
179. What is the correct chemical formula for the ionic compound formed by the calcium ion (Ca2+) and the acetate ion (C2H3O2-)?

[A] CaC2H3O2


[B] CaC4H6O8


[C] (Ca)2C2H3O2

[D] Ca(C2H3O2)2

180. What is the correct name of the compound with the formula RbClO4?


[A] rubidium chlorine oxide

[B] rubidium chloride tetroxide


[C] rubidium perchlorate

[D] rubidium chlorate

181. What is the charge on the anion in AlPO4?


[A] 2+

[B] 3+

[C] 2-

[D] 3-

182. What is the correct formula for calcium iodide?


[A] CaI

[B] Ca2I
[C] CaI2
[D] Ca2I2
183.  What is the correct formula for potassium periodate?


[A] KI

[B] KIO2
[C] KIO3
[D] KIO4
184.  What is the correct formula for copper (II) chloride?


[A] CuCl
[B] Cu2Cl
[C] CuCl2
[D] CuHPO4

185. What is the correct name of CaCl2?


[A] calcium chloride


[B] calcium chlorate


[C] calcium chlorite


[D] calcium chlorine

186.  What is the correct name of KNO3?


[A] potassium nitride


[B] potassium nitrate


[C] potassium nitrite


[D] potassium nitrogen oxide

187. What is the correct name of NaClO?


[A] sodium chlorate


[B] sodium perchlorate

[C] sodium chlorite


[D] sodium hypochlorite

188.  What is the correct formula for combining Al3+ and O2-?


[A] AlO
[B] Al2O3
[C] Al3O2
[D] O2Al3

189.  Which of the following is the correct orbital diagram for the third and fourth principal energy levels of vanadium?

[A]
                       3s
      3p

  4s

     3d


[B]
                      3s
     3p

  4s

      3d


[C]
 
          3s
     3p

  4s

       3d

[D]  

           3s                3p
              4s

      3d

190.  What is the electron-dot structure for indium?


                                   。


         。
[A]  。In
[B] 。In。
[C] 。In。
[D] 。In。
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